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Flfth Semester B.Com. Degree Dramination, March/April 2O2l

(CBCS - Freshers and Repeaters - 2O16-17 and ontua7ds)

Commerce

Paper 5.4 - COSTING METHODS

Time : 3 Hoursl Mqrlc : 7O

Instructions to Candidates : Ansuer should be uitten ampletelg either in Engli.sh or
in Kannada.

SECTION - A/sQari -i
Answer any FIVE of the following sub-questions. Each sub-question carries
2marks: (5x2=1ol
olDilmddo ecdl {dJl{rt @gO:,. {,goLaoddo* 2 uodridc :

(a) What is meant by abnormal gain?

oradod, eraqJ aodded.:?

(b) Mention four features of job costing.

68 de.ri dai,.OoroId oDer.ld egicorldd;* 3d,L

(c) Name any four industries in which process costing is used.

{,E ob JtJrr&rcsol-r ddoSobd{ saJdAidid olDiloDddJo uJe))J -aerdFdridd{ dio.l.

(e) What do you mean by work certifred?

ddBcdold deri aoddedc?

(0 Give the meaning of composite cost unit.

ioo}oedd Jai,j+tjdd rrdFJdJ 0eB.

(g) What do you mean by National profrt?

doJD sad.rodd adJ SarAd)SO?

1
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(d) What is Economic batch quantity?

tudddoiJd dDadJ rbo{1 "roddedc?
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SECTION-B/$Aad- A

Answer any THREE questions. Each question carries 6 marks :

olDocraddn dln& EdJderil stEO:. {,3orDo& qSJf" 6 godd$:

Briefly explain any three methods of costing.

JtS,r Omcol: ua-a d ol>d1mdd/o dMdr aeadrlrrdifqq.en 3dO:'

(3x6=181

2

3 The following particulars relate to a certain contract carried out during the year
ended 3 1.3.2O 19.

Particulars

Work certified

Cash received from contractee

Materials sent to site

Labour

Plant installed at site

Value of plant at the end

Cost of work not yet cerLifred

Establishment charges

Direct expenditure

Materials on hand at ttre end

Materials returned to stores

Contract price

(in <)

14,300

13,OOO

6,450

5,660

1,130

420

340

325

260

140

40

20,o00

Prepare the Contract Account for the year ended 31-3-2O19.

dr dddod dJa&3obr r.odc rtrSd doid 31.3.2O19d re.AFd sdQ rrodd-d+ ioooQid :

sddrlC.)

d.)Bed8:,d doi

rt$rt OeBddood ddd dre

{d-fr d$3.nd FadJDrld)

dr$

iddo F-add dredd
(,od,,doJ Fa.dd de,

dr6ed0:,d defi

(dro.ridOJ

14,300

13,OOO

6,450

5,660

1, 130

420

, 340
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Fad6f. a)d)F
Q

ded $drF

sod^d0drd Ddrndct)o6

auro.md t ot&nfd Ddrndd.))a

rr{il zJe,

31-3-2O19d dEFod-d. ru3rt erad doiDol.D6

325

260

140

40

20,000

Calculate EBQ and number of batches ftom the following :

Annual consumption - 50,0O0 units

Setting-up cost per batch - Rs. 10O

Cost of manufacture - Rs. 20 /rurut

Rate of interest - lOTo

Carrying cost - 0.5O Rs per unit p.a. (50 paise)

dr tdnd .rodrlood EBQ d)dl ?.D6tl)rlc, ioardobdldodr &6d$:

aa&rd deaf - 50,OO0 olDot rld)

ldodadli ddJf$ - d6. IOO ?.od) olrA0tr6il

o)odd@ Jr{d- &0. 2O t odr ob.cootril

?JA &d6a - 10%o

iorld Jtlr- O.5O r"odr olroourd. (r"odJ ddFtJ

Calculate the cost and selling price of the job a.fter adding 20% profit on
total cost.

Materials Rs. 12,030

Wages - Dept. A - 60 hrs at Rs. 50/hr

Dept. B - 40 hrs at Rs. 3O/hr

Dept. C - 2O hrs at Rs. 25lhr

Variable overhead - Rs. 2O per hour

Fixed overhead - Rs. 25,0OO for 10OO hours

4
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z"t^$ ddd d:eeJ dedra 2oddr erDdddJ ieo,l,. ?-od) deJid dd drdr dJDudtJd dcroldJo.J z, -aJ ', .t ?.J i .t
dodJ &Ao$O :

Fa$DrldJ - dn. 12,030

doO - $zgad .r - {,3 doesrt Sodn.dod 60 riotsridrl

sqrrri a - dr8 rlotSrt 3odr.dod 40 riotlri€rl

sqrdd n - {,3 rioulrl 2sd-o.dod 20 rlst3d9.rt 
.

udeDrbd dreeD du.i.- d.o. 2O d,3 rlotjrl .

3-d d)eeD dLl - 1000 riotjri€d d.o. 25,ooo.6 2-a

A transport comp'any runs 4 buses betweeil two cities, which are 6O krns apart.
The seating capacity of each bus is 6O passengers. The actual capacity carried
is 80%. Each bus makes 4 round trips per day. On the onward. jou_rngy, tlte
buses run to full capacity and on return trip fl)n 2O"/o empty. . Calculate the
kilometers and total passenger kilometers for a month assuming that no bus is
off-the road due to repairs ald maintenance.

z"odJ EeOrl ioi-obJ 60 E.SJe. podd.5&d ndd.> dridri9 d)d. daeD, zltur-l9dr. LA$dd. 43@ .-. ',- ? 6 .'.r. .( ,
uld erddd Fad)CdF 60 4/ol)Dedd&. dadd-Dn €,olDednd Fad)CdF 80% dE uir Addr NaFrt
-rl:Q (trips) Eol:aeCir{d. uad, {,middai:tldc {por rad.:Cu{ r-0tu{d drd; &oad:d

{,aaid{2o% anOqlDh Ddrdd. oiDd D-,!*EoJDted d$q$dq6to}ilDher aod.r ne3o,1,

?",ur)3.tue. rldJ $di EoiDe,Jd E tuc.rld&4dodr &AoDO. :

SECTION-C/seeri -n
Answer any THREE questions. Each question carries 14 marks : l3 x 14 = 421
oIailoadd, drnd) d-dJddrl o{on {,goloodc qt! 14 sodriqtu :

A product passes through 3 prcicesses for its completion for the year ending
31.3.2O19 the following are the details :

Processes
Particulars Total I II III

Rs. Rs. Rs. Rs.

Materials 8,4a,2OO 2,OO,OOO 3,O2,OOO 3,46,200
Labour 12,OO,OOO 3,OO,OOO 4,00,000 5,OO,O0O

Production O/H 6,00,000
Direct expenses 72,600 50,OOO 22,600
Normal loss - lOo/o 5o/o loo/o

Sale of scrap p/u (in Rs.) - 3 5 6

Production in units - 9,2OO 8,7OO 8,OOO

10,0O0 units at Rs. 50 per unit were introduced to process - I. Production
overhead to be allocated on the basis of direct labour.
Prepare process accounts, abnormal loss and abnormal gain accounts'

7
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tSdod s-a8rl ioiobdd.r 25 rrid ;,-ad.rdre$d, a,od) ia., u{p* t-Birqd. 25 S.ex. i.od
soddedJd Dddr dU.J$rld ddJd d, D-ar^ eioiradnrgd Sorl€do_ dr al-ar 3O 6drid caer

iot3Dirdd d.rQ edd iuaiO sadr$rrd de. 8Oddtr eddrldc qjerolDri{d. 9g Ad dr oir^
nddJ ?rdo dnen DdJgd

&ddddc drq (d.o.ridOJ

15,00,000a)ld de,

10 ddrrid udQob dodd eldr

Od;d ob:{;am rl dDuat J are,

raerdd 3orid ioa:d

&aarddd 3orid ioaH
drdoaddd Sorid ioard

id rln€1;,,rddd Sorld ioard

mdderc ?.rd6rl t"odc ddrd*

deoaJQ dod

alaAd, $d)dr.r$ sgada .goddd

dJd:,3oded

AeJe, drdl drer Sori€d

20t7
(Rs.)

90,000
85,000

3,000
500

1,500

60 00

9,000

7,500

6,000

4,500

32,400

72,OOO

1,500

3,600

36,000

2018
(Rs.)

1,10,OOO

I , 15,OOO

1 1,500
1,000
2,OOO

0

9

ooe&d eDqj, Srldrdodi/d ?"t^*d.ogd dred de. 20dd1

(a) &irdo-a ddu{8 drolorddd 3.are.

(b) U3dUr6 dd dr3.l$ 4o$DeCd 6.$)e.d t,dd6)-^DJ Eart doLDo:,.

Ashok constructions undertook a contract for Rs. 7,5O,OOO on an agreement that
80% of the value of the work certilied should be paid immediately. The amounts
expended were :

Particulars

Materials
Wages

Carriage
Cartage
Sundry expenses
Work certified

2019
(Rs.)

63,000
95,000

3,O00
1,500

3Otr, June
whole contract
was completed

7 5o/o of
1,87,500 contract price

Work uncertified - 10,000

Show Contract Account and Contractee's Account

6/8
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?"odJ d$ @Ee.Jdd doiDodolq $"odr dodrlr,dl 6ed) d/oert.Ed. 31.3.2O19d oodod

AJdrldJ dddodo9d :

dodrl?,b

sddrid)

FD$Drictr

dr$
susad e d)eerdd 

"l zl

ded dd;idc
nd;ad, d{

?"ut) d.od

dr.
8,4a,2AO

12,00,000

6,00,000

72,600

2,O0,O00

3,00,000

50,000

to%

3,02,000

4,00,000

22,600

5o/o

III
dJa.

3,46,200

5,00,000

lOo/o

il
d.a.

I
dJa.

$[e)fu dDoeti de,

(E.9ob.o0ti6il) 3 5 6

I dogdd 1O,OO0 ob-o0trrlCd{d.t ol}not ,t dJa. sodod 0ederrd).tr. ded d/d)d rrtr-rdd

dred suEr.Jd@ drecD drl#dt dorJdd). dodd crdrddt dolDo:, $d? eFadradd eDC dJQ
d*d $ado$dr4dobon.

Chiranth Transport runs a mini bus with a capacity of 25 seats. The bus runs
between two towns which are 25 kms apait. It mns for 30 days in a month and
on an average 807o of seating capacity is utilized. The bus makes two rouod trips
each day.

Particulars Amt (in O
Cost of the bus I5,0O,0OO
Estimated scrap value at the end of its
useful life of 1O years 60,000
Driver's salary per month 9,000
Conductor's salary per month 7,500
Manager's salary per month 6,000
Cleaner's salar5z per month 4,500
Garage rent p.a 32,4OO
Life tax 72.,OOO

Rent, lighting etc p.m 1,500
Repairs p.m 3,600
Diesel oil etc p.m 36,000
The profit expected 20% of takings

Prepare statements to show :

(a) Operating cost per passenger kilometer.

(b) The fare per passenger kilometer.

s/8
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e&ad ddqgf d,o. 7,5O,OOO rtlgdolrd{80% ddddtEoi d,dDrddord dodd d;ad:d

?"dJdd $cd,t dddil. or,DFndli darJld)

eddrlsb 2OtZ 2ot8
(dn.) (dn.)

D$Drl$ 90,O0o l,lo,OOO

dJoO 8S,0OO l,l5,OOO

DrDsrf 3,OOO 11,500

aroa ?.Dail 5oo l,ooo

edd odrrrlr$ 1,500 2,000

dd0ed0nd ron 1,87,500 TSo/o of
rr4rl

derob0-

ddAcdond dol - 10,000

rir!il uaJrltlc drdi rtl:fi oe8ddd Dagr'ldd{do!D03D.

10. From the following particulars relating to four jobs of a manufacturing company
ascertain the total cost of each job and selling price of each job. Assuming that
prolit mark up is 25% on selling price.

Particulars Job-A Job-B Job-C Job-D
Materials 16,000 2O,OOO 24,OOO 28,OOO

Wages 8,OOO 1O,OOO l2,OO0 14,OOO

Direct expenses 1,6OO 2,0OO 2,4OO 2,800

Works overhead is 50% of prime cost and office overhead is 20% on works cost.

* fddod suio.lddD loi oJr uoer-1, Aa demdd $Solaodd ?"t rI Jdd $,* dc. 2sddtr erdqrdod

?"cr.tDodc, iD@uJ ddJiddi dodr 3.BdrE:

eJdrl$ ilefi-o toi-6 Eoi-:, doi-B

n$$rltb t6,0oo 2o,ooo 24,oo0 28,ooo

d.eo s,ooo lo,ooo r2,ooo 14,ooo

ded od:r 1,600 2,0oo 2,4OO 2,aoo

teeDFd txeu Jdltf: FdrC&rd Jtl,.d d.:ed d(. soddt $dl dCeO d)ceD Jd;idc auard
JdF Ce. 20d$"r

&ldodolJ:

2019
(d,a.)

63,000

95,000

3,OOO

1,500

30 aiodd

das€Frlrodod

7/8
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In Process )(' 2000 units of raw materials were introduced at a cost of
Rs. 2,OO,OOO. The other expenditure incurred in the process was-

Rs. 1,20,0O0. Out of the units introduced 5olo were, lost in weight and the
normal loss was 57o which were sold @ < 16 per unit. The output of
process Xwas only 1825 units.

Calculate abnormal gain or loss.

{Srob dod Xrd 2OOO +lJdrlCq dJD. 2,OO,OOO Jt3,.dO- d?^to, doa{rrleafr

doddDdcrDnd. Edd $c$FdrDn d.a. 1,2O;,OOOd1 COdoahd. AOr.lorx,a eua",

dmsrrltrd de. sdCt drdd d.{ uhd. DdDdd d* de. sddl und.r, cdrrld&n {3'
+trd r d.o. 16do.t daot.,;tadqrehd. 99o]) dod Xd sudJ{ 1825 -+trdrldc.

s:Dtred6e erac !,c$ dsJit)dd **aso. i
(b) From the following particulars related to Job No. 555 ascertain the total.

cost and estimated seiling price.

Direct material Rs. S,AOO

Direct labour Rs. 4,O0O

Works overheads a:e recovered on the basis of 5O% of prime cost and
administrative overhead 1O7o of works cost. A profrt of l0% on total cost is
to be added.

&Bdro

ded daordo-aflrrlcb - dr. 8,800
,.r\.

ded dJdJ drl.r- d.o. 4,OOO

teobFd &eerJd,rddt gtrad JdlJd te. 50doJ qJodcrdnd aarta sddJ d.:eel3fFd;'

ueobr dtJ,d dc. lodod qrodcDM. t"tD.rJdBd de. lod4p4sDC;ran ieoierDnd.

8/8

dB doi iorJ, 555d dsrnd dDS*grk od ?"UD"rdrl,r$dl (ro6Jri) dDuJtJ delol-rd:n dod.>


